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Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

India’s territorial waters extend into the sea to a distance of _____ nautical miles from the coast baseline. / भारत
की सम╪ुी सीमा तट आधारभतू स े___नॉिटकल मील की दूरी तक सम╪ु म┼ िवּהार ह।ै

150

30

12

75

Correct Answer :­12 

2)

Question Stimulus :­

Hoshang Shah’s Tomb is located at_____./होशगं शाह का मकबरा _____ म┼ εэथत ह।ै

Mandu / माडंू

Rajgarh / राजगढ़

Asirgarh / असीरगढ़

Raisen / रायसने

Correct Answer :­Mandu / माडंू 

3)

Question Stimulus :­

RBI was nationalised in _______./ भारतीय δरजव└ ब╒क का _____म┼ राױ├ीयकरण िकया गया था।

1959

1947

1945



1949

Correct Answer :­1949 

4)

Question Stimulus :­

91.27% of total area of ________ is covered with forest, which is the highest in India. / __ के कुल ā╨ेफल का
91.27% वन ह,ै जो भारत म┼ सबस ेअिधक ह।ै

Tamil Nadu / तिमलनाडु

Mizoram / िमजोरम

Uttar Pradesh / उΟर ▀दशे

Maharashtra / महाराױ├

Correct Answer :­Mizoram / िमजोरम 

5)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह ै:

"If today is Sunday, Matt cannot play hockey"? / “अगर आज रिववार ह,ै तो मटै हॉकी नही ंखले
सकता"?

Today is Sunday and Matt can play hockey. / आज रिववार ह ैऔर मटै हॉकी खले सकता ह।ै

If Matt plays hockey, then today is not Sunday. / अगर मटै हॉकी खलेता ह,ै तो आज रिववार नहीं
ह।ै

Today is Sunday and Matt cannot play hockey. / आज रिववार ह ैऔर मटै हॉकी नही ंखले
सकता ह।ै

Today is not Sunday if and only if Matt plays hockey. / आज रिववार नही ंह ैयिद और िसफ└
यिद मटै हॉकी खलेता ह।ै

Correct Answer :­If Matt plays hockey, then today is not Sunday. / अगर मटै हॉकी खलेता ह,ै
तो आज रिववार नही ंह।ै 

6)

Question Stimulus :­



Across which river of Madhya Pradesh is the Gandhi Sagar built? / मЄ ▀दशे की िकस नदी पर गाधंी सागर
बनाया गया ह?ै

Barana / बराना

Narmada / नम└दा

Chambal / चबंल

None of the above / उपरो♣ कोई भी नहीं

Correct Answer :­Chambal / चबंल 

7)

Question Stimulus :­

Who proposed the drain of wealth theory? / धन िनकास का िसοातं िकसन े▀ּהािवत िकया?

Dadabhai Naoroji / दादाभाई नारोजी

Bal Gangadhar Tilak / बाल गगंाधर ितलक

A.O Hume / ए ओ हयू्म

J L Nehru / ज ेएल नहे╜

Correct Answer :­Dadabhai Naoroji / दादाभाई नारोजी 

8)

Question Stimulus :­

How many numbers are immediately preceded by a letter but not followed by a symbol in
the following sequence? / िनђ अन╡ुम म┼, िकतनी ऐसी सġंाएँ ह╒ िजनके ठीक पहल ेएक अāर आता ह,ै लिेकन
ठीक बाद एक ▀तीक नही ंआता ह?ै
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Correct Answer :­8 

9)



Question Stimulus :­

Army War College is located in______ / आम┬ वॉर कॉलजे ______ म┼ εэथत ह।ै

Bhopal / भोपाल

Morar / मोरार

Mhow / म╠

Pachmarhi / पचमढ़ी

Correct Answer :­Mhow / म╠ 

10)

Question Stimulus :­

After every general election which house(s) of the Parliament is (are) reconstituted? / हर आम चनुाव के बाद ससंद
के िकस सदन (सदनो)ं का पनुग└ठन होता ह?ै

Rajya Sabha / राǿसभा

Lok Sabha / लोक सभा

Both Houses of Parliament / ससंद के दोनो ंसदन

None because both the Houses have some nominees / कोई नही ंℓोिंक दोनो ंसदनो ंके कुछ नािमत सदּק होत ेह╒

Correct Answer :­Lok Sabha / लोक सभा 

11)

Question Stimulus :­

This Person was responsible for producing the first man-made gene in his laboratory and he was
awarded a Nobel Prize for the same. / यह יε♣ अपनी ▀योगशाला म┼ पहली बार मानव िनिम└त जीन िनमा└ण
के िलए उΟरदायी था एव ंइसी के िलए वह नोबले परुַאार स ेसњािनत िकया गया था।

Shanti S Bhatnagar / शािंत एस भटनागर

Har Gobind Khorana / हर गोिबदं खोराना

Subramanyam Chandrashekar / स█ुֿפΔम च╪ंशखेर

Shakuntala Devi / शकुЋला दवेी

Correct Answer :­Har Gobind Khorana / हर गोिबदं खोराना 

12)



12)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If Kamal likes singing, then he doesn’t like dancing. / अगर कमल को गाना पसГ ह,ै तो उसे
नाचना पसГ नही ंह।ै

If Kamal likes dancing, then he likes singing. / अगर कमल को नाचना पसГ ह,ै तो उस ेगाना
पसГ ह।ै

If Kamal likes dancing, then he doesn’t like singing. / अगर कमल को नाचना पसГ ह,ै तो
उस ेगाना पसГ नही ंह।ै

If Kamal doesn’t like singing, then he doesn’t like dancing. / अगर कमल को गाना पसГ
नही ंह,ै तो उस ेनाचना पसГ नही ंह।ै

If Kamal doesn’t like singing, then he likes dancing. / अगर कमल को गाना पसГ नही ंह,ै तो
उस ेनाचना पसГ ह।ै

Correct Answer :­If Kamal likes dancing, then he doesn’t like singing. / अगर कमल को
नाचना पसГ ह,ै तो उस ेगाना पसГ नही ंह।ै 

13)

Question Stimulus :­

The first capital city of Chandelas was_________/ चदंले की पहली राजधानी _________ थी

Ujjain/ उŬनै

Mahoba/ महोबा

Khajuraho/ खजरुाहो

Chanderi/ चदंरेी

Correct Answer :­Khajuraho/ खजरुाहो 

14)

Question Stimulus :­

Who established the Gupta dynasty? / गЧुा राजवशं की эथापना िकसन ेकी थी?

Chandragupta I / चДगЧु I

Chandra Gupta Vikramaditya / चДगЧु िव╡मािदέ



Ramgupta / रामगЧु

Sri Gupta / ▓ी गЧुा

Correct Answer :­Sri Gupta / ▓ी गЧुा 

15)

Question Stimulus :­

Anitha, Mahima, Rajan, Latha and Deepti are five cousins. Anitha is twice as old as
Mahima. Rajan is half the age of Mahima. Anitha is half the age of Deepti and Rajan is
twice the age of Latha. / अिनथा,मिहमा,राजन,लथा और दीपती पाचँ चचरेी बहन┼ ह╒। अिनथा,मिहमा स ेउ▐ म┼
दोगनुी बड़ी ह।ै राजन की उ▐ मिहमा स ेआधी ह।ैअिन था की उ▐ दीपती स ेआधी ह ैऔर राजन की उ▐ लता स ेदोगनुा
ह।ै

If Mahima is 16 years old, then what is the age of Latha? / अगर मिहमा 16 साल की ह,ै तो लथा
की आय ुिकतनी होगी?

4 years / 4 साल

5 years / 5 साल

7 years / 7 साल

14 years / 14 साल

Correct Answer :­4 years / 4 साल 

16)

Question Stimulus :­

Punjab is famous for this dance form / पजंाब इस नέृ शलैी के िलए ▀िसο ह:ै

Garbha / गरबा

Jhumar / झमूर

Ghumar / घमूर

Bhangra / भगंड़ा

Correct Answer :­Bhangra / भगंड़ा 

17)

Question Stimulus :­

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the



family. / छः लोगो ंके एक पδरवार म┼ लोग तीन पीिढ़यो ंस ेह╒। हर एक का יवसाय अलग ह ैऔर उФ┼ अलग रंग पसदं ह╒। वहाँ
पδरवार म┼ दो यगुल ह╒।

2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / रोहन सनदी लखेाकार है
और उसकी पΤी न डॉ♂र ह ैन उस ेहरा रंग पसदं ह।ै

3. Engineer likes red colour and his wife is a teacher. / अिभयतंा को हरा रंग पसदं ह ैऔर उसकी पΤी
िशāक ह।ै

4. Mohini is mother­in­law of Sunitha and she likes orange colour. / मोिहनी सनुीता की सास ह ैऔर
उस ेनारंगी रंग पसदं ह।ै

5. Vinod is grandfather of Tanamy and Tanmay, who is a principal, likes black colour. /
िवनोद तनमय के दादा ह ैऔर तनमय जो ▀धानाचाय└ ह,ै उस ेकाला रंग पसदं ह।ै

6. Nanu, granddaughter of Mohini and she likes blue colour. / मोिहनी की नाती नान ूह ैऔर उस ेनीला
रंग पसदं ह।ै

7. Nanu’s mother likes white colour. / नान ूकी मा ँको सफ़ेद रंग पसदं ह।ै

 

Who is Engineer? / अिभयतंा कौन ह?ै

Nanu / नानु

Mohini / मोिहनी

Sunita / सनुीता

None of these / इनम┼ स ेकोई नहीं

Correct Answer :­None of these / इनम┼ स ेकोई नही ं

18)

Question Stimulus :­

Where do we find the Baiga tribes predominantly? / बगैा जनजाितया ंमġु ╜प स ेकहा ँिमलत ेह?ै

Vindhya and Satpura region / िवЄं और सतपड़ुा ā╨े

Ujjain and Jabalpur districts  / उŬनै और जबलपरु िजले

Umaria and Mandi districts / उमδरया और मडंी िजले

Mandala and Balaghat districts / मडंला और बालाघाट िजले

Correct Answer :­Mandala and Balaghat districts / मडंला और बालाघाट िजल े

19)



Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  / कथन:

All stars are satellites  /  सभी िसतारे उप╣ह ह╒

Some satellites are planets  /  कुछ उप╣ह ╣ह ह╒

Conclusions:  /  िनתष└:

I. Some planets are stars  / I. कुछ ╣ह तारे ह╒

II. All satellites are planets / II. सभी उप╣ह ╣ह ह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता ह ै

20)

Question Stimulus :­

Who received the Jnanpith award in 2015? / 2015 म┼ ŵानपीठ परुַאार िकस ेिदया गया था?

Bhalchandra Nemade / भालच╪ं नमेाडे

Raghuveer Chaudhari /  रघवुीर चौधरी

Rajendra Shah / राजДे शाह

Chandrashekhara Kambara / चДंशखेर कंबर

Correct Answer :­Raghuveer Chaudhari /  रघवुीर चौधरी 

21)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  /  कथन:



All friends of mine are talkative  /  मरेे सभी दोּה बातनूी  ह╒

Swapna is not talkative  /  ּתЩा बातनूी नही ंहै

Conclusions:  /  िनתष└:

I. Swapna is not my friend  /  I. ּתЩा मरेी दोּה नही ंहै

II. Swapna must speak / II. ּתЩा को बोलना चािहए

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

22)

Question Stimulus :­

“Bahishkrit Bharat” was written by / “बिहृתत भारत“___ύारा िलεखत है

Aurobindo Ghosh / अरिवदंो घोष

B R Ambedkar / बी आर अѕडेकर

B G Tilak / बी जी ितलक

Annie Beasant / एनी बसेЉे

Correct Answer :­B R Ambedkar / बी आर अѕडेकर 

23)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ۴िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If it is a festival, then we will wear new dress / अगर यह έौहार ह,ै तो हम नया कपड़ा पहन┼गे

It is not a festival, so we won’t wear new dress / यह έौहार नही ंह,ै इसिलए हम नया कपड़ा
नही ंपहन┼गे

We didn’t wear a new dress, so it is not a festival / हमन┼ नया कपड़ा नही ंपहना, इसिलए यह
έौहार नही ंहै



We wore a new dress implies it is a festival / हमन ेनया कपड़ा पहना इसका मतलब ह ैयह
έौहार है

None of the above / उपरो♣ कोई नहीं

Correct Answer :­We didn’t wear a new dress, so it is not a festival / हमन┼ नया कपड़ा नहीं
पहना, इसिलए यह έौहार नही ंह ै

24)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  /  कथन:

Most grains are nuts  /  ّादा अनाज सपुारी ह╒

Some nuts are pulses  /  कुछ सपुारी दाल┼ है

Conclusions:  /  िनתष└:

I. Some pulses are nuts  /  I. कुछ दाल सपुारी ह╒

II. Some grains are pulses / II. कुछ अनाज दाल┼ है

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता ह ै

25)

Question Stimulus :­

Who is also known as “The Nightingale of India”? / िकसको “भारत कोिकला" के नाम स ेभी जाना जाता ह?ै

Lata Mangeshkar / लता मगंशेकर

Asha Bhonsle / आशा भोसंले

Sarojini Naidu / सरोिजनी नायडू

Vijayalaxmi Pandit / िवजयलĈी पिंडत



Correct Answer :­Sarojini Naidu / सरोिजनी नायडू 

26)

Question Stimulus :­

Raj wants to become a member of a club. The various membership options are as follow: /
राज एक □ब का एक सदּק बनना चाहता ह।ै िविभК सदּקता के िवकֽ इस ▀कार ह:ै

A ­ Initial payment: Rs. 10000, annual fee: Rs. 1000 / A ­ आरंिभक भगुतान: 10000 ╛पय,े वािष└क
श№ु: 1000 ╛पये

B ­ Initial payment: Rs. 5000, Monthly fee: Rs. 100 / B ­  आरंिभक भगुतान: 5000 ╛पय,े मािसक
श№ु: 100 ╛पये

C ­ Life time membership fee: Rs. 20000 (Includes membership for all family members) /
C ­ जीवन बार सदּקता श№ु: 20000 ╛पय े(पδरवार के सभी सदּקो ंके िलए सदּקता भी शािमल ह)ै

Now Raj wants to extend his membership to 10 years. Which plan would be more suitable?
/ अब राज 10 साल तक अपनी सदּקता को बढ़ाना चाहता ह।ै तो कौन सी योजना उसके िलए अिधक उपय♣ु होगी?

A

B

C

Either A or C / A या C

Correct Answer :­B 

27)

Question Stimulus :­

If the figure on le├ is folded to form a cube, then which of the following opĕons is the face opposite to the face shown
at the right? / यिद बायी ंओर पर आकृित को घन की रचना करन ेके िलए फोֵ िकया जाता ह,ै तो िनђ िवकֽो ंम┼ से
कौन स ेिवकֽ म┼ फलक दायी ंओर िदखाय ेगय ेफलक के िवपरीत ह?ै



Correct Answer :­  

28)

Question Stimulus :­

If Monday means a cheerful day, and its Monday today, then it’s a lousy day today. / यिद
सोमवार का मतलब खशुहाल िदन ह,ै और आज सोमवार ह,ै तो आज ब╟त खराब िदन ह।ै

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अ▀ासिंगक

Correct Answer :­False / गलत 

29)

Question Stimulus :­

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: / 
िनђिलεखत ▀ע म┼ एक साथ└क ╡म म┼ शоो ंकी יवэथा कर┼ और उसके बाद नीच ेिदए गए िवकֽो ंम┼ स ेसबस ेउपय♣ु
अन╡ुम का चयन कर┼:

1. College    2. Child      3. Salary      4. School     5. Employment.  

1.महािवϋालय   2. बŗा    3. वतेन          4. िवϋालय    5. रोजगार

1,2,4,3,5

2,4,1,5,3

4,1,3,5,2

5,3,2,1,4



Correct Answer :­2,4,1,5,3 

30)

Question Stimulus :­

Who was the first Chief Justice of India? / भारत के ▀थम मġु Рायाधीश कौन थ?े

M. Patanjali Sastri / एम पी शाּזी

Harilal J. Kania / हδरलाल ज ेकािनया

Mehr Chand Mahajan / महेर चदं महाजन

B.K. Mukherjee / बी के मखुज┬

Correct Answer :­Harilal J. Kania / हδरलाल ज ेकािनया 

31)

Question Stimulus :­

What is related to ‘pint’ in the same way as ‘inch’ is related to ‘cenĕmeter’? / िजस तरह ‘इचं’ सबंिंधत ह ै‘स┼टीमीटर’
स,े उसी ▀कार स े‘िपटं’ स ेℓा सबंिंधत ह?ै

Gallon / गलैन

Litre / लीटर

Weight / वजन

Volume / आयतन

Correct Answer :­Gallon / गलैन 

32)

Question Stimulus :­

Shirish is taller than Ashutosh, Raju is taller than Charu but shorter than Balu. Ashutosh
is shorter than Charu. Charu is taller than Shirish. Who is the tallest? / िशरीष आशतुोष से
लबंा ह,ै राज ूचा╜ स ेलबंा ह ैपर बाल ूस ेछोटा ह।ै आशतुोष चा╜ स ेछोटा ह।ै चा╜ िशरीष स ेलबंा ह।ै सबस ेलबंा कौन
ह?ै

Shirish / िशरीष

Bala / बाला

Raju / राजू



Ashutosh / आशतुोष

Correct Answer :­Bala / बाला 

33)

Question Stimulus :­

In the following quesĕon, there is certain relaĕonship between the first two terms. Choose the fourth term from the
following opĕons which has a similar kind of relaĕon with the third term. / िनђ ▀ע म┼, पहल ेतो पदो ंके बीच िकसी
▀कार स ेकोई सबंधं ह|ै िनђ िवकֽो ंम┼ स ेचौथा पद चिुनय ेिजसका तीसरे पद के साथ उसी ▀कार का सबंधं ह|ै

Ocean : Pond :: Stream : ? / सागर : तालाब :: धारा : ?

River / नदी

Shallow / उथला

Canal / नहर

Clean / साफ

Correct Answer :­River / नदी 

34)

Question Stimulus :­

B is the brother of A whose son is the brother of D. If C and D are sisters, how is B related to C? / B, A का भाई है
िजसका प╨ु D का भाई ह|ै यिद C एव ंD बहन┼ ह╒, B िकस ▀कार C स ेसबंिंधत ह?ै

Father / िपता

Uncle / चाचा

Grandfather / दादा

Brother / भाई

Correct Answer :­Uncle / चाचा 

35)

Question Stimulus :­

The acid that is used in baĥeries used in automobiles is / जो अќ मोटर की बटैरी म┼ ▀योग िकया जाता है

Ascorbic acid / एַאािब└क अќ

Aceĕc acid / िसरका अќ



Nitric acid / नाइिट├क अќ

Sulphuric acid / सیзδूरक अќ

Correct Answer :­Sulphuric acid / सیзδूरक अќ 

36)

Question Stimulus :­

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / िनђ ▀ע म┼, चार शо िदये
गय ेह╒, िजनम┼ स ेतीन िकसी ▀कार स ेसमान ह╒ और बाकी एक अलग ह|ै अलग वाला ŵात कीिजय|े

Rajesh / राजशे

Ajay / अजय

Vijay / िवजय

Sandhya / सЄंा

Correct Answer :­Sandhya / सЄंा 

37)

Question Stimulus :­

The Karakoram Pass links / काराकोरम दरा└ कड़ी ह:ै

Afghanistan and Pakistan / अफगािनּהान और पािकּהान

China and Pakistan / चीन और पािकּהान

China and India / चीन और भारत

Afghanistan and Iran / अफगािनּהान और ईरान

Correct Answer :­China and India / चीन और भारत 

38)

Question Stimulus :­

Idenĕfy the odd one out. / िवषम पहचान┼ :

Kalpakkam / कलप☺म

Kundakulam / कुडनकुलम



Dabhol  / दाभोल

Trombay / ट├ाѕे

Correct Answer :­Dabhol  / दाभोल 

39)

Question Stimulus :­

How many times ‘E’ exceeds ‘R’ in the word, ‘EXERCRATE’? / ‘EXERCRATE’ शо म┼ ‘E’
िकतन ेस े‘R’ स ेअिधक ह?ै

1

2

3

4

Correct Answer :­1 

40)

Question Stimulus :­

A farmer grows 4 crops– A, B, C and D, not necessarily every crop in every year. A is grown between the months Jan‐
May, B between April – July, C between June –October and D between September‐January. Each crop takes 3 months
from sowing to harvesĕng. At a ĕme only crop can be grown. / एक िकसान चार फसल┼ उगाता ह ै‐ A, B, C और D, ये
ज़╜री नही ंकी हर फ़सल वो हर वष└ उगाए। A जनवरी ‐मई के बीच म┼ उगाई जाती ह,ै B अ▀लै ‐ जलुाई म┼, C जनू ‐अ♂ूबर
और D िसतѕर ‐जनवरी म┼। एक फसल बवुाई स ेकटाई म┼ 3 महीन ेलतेी ह।ै एक बार म┼ िसफ└ एक फसल उगाई जा सकती ह।ै

If the farmer wants to sow B in the month april, when is the latest crop A should be sown? / यिद िकसान अ▀लै महीन ेम┼
Bबोना चाहता ह,ै तो नवीनतम फसल A की बवुाई कब की जानी चािहए?

February / फरवरी

March / माच└

January / जनवरी

May / मई

Correct Answer :­January / जनवरी 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­



What is the minimum number of straight lines required to make the following
figure? / िनђ आकृित को बनान ेके िलय ेРनूतम सġंा म┼ िकतनी सीधी रेखाओ ंकी आवפकता होगी?

8

10

12

11

Correct Answer :­10 

2)

Question Stimulus :­

The average of 12 numbers is x. What is the average if each of the number increases by 4?
/ 12 सġंाओ ंका औसत x ह|ै यिद ▀έके सġंा 4 स ेबढ़ जाय ेतो औसत ℓा होगा?

x+8

x+4

x+16

x+2

Correct Answer :­x+4 

3)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

2,3,5,____,17,33

9



256

352

456

Correct Answer :­9 

4)

Question Stimulus :­

If 6A51+7B50­A95 = 138D6 Where A, B and D are represenĕng different numerals; find the value of ‘D’? / यिद
6A51+7B50‐A95 = 138D6 जहा ंA, B और D िविभК सġंाकं ह╒; तो ‘D’ का मान ℓा होगा?

1

5

0

4

Correct Answer :­0 

5)

Question Stimulus :­

An article was brought for Rs. 250 and sold at a loss of 5%. What is its selling Price? / एक वּ250ु ה ╛पय ेम┼
खरीदी गयी और 5% का नकुसान पर बचे दी गयी। इसका िब╡ी मूׂ  ℓा ह?ै

Rs.237.50 / ╜पए 237.50

Rs.238.50 / ╜पए 238.50

Rs.239.50 / ╜पए 239.50

None of these / इनम┼ स ेकोई नही।ं

Correct Answer :­Rs.237.50 / ╜पए 237.50 

6)

Question Stimulus :­

A car moves at a speed of 45 km/hr, reaches its destination on time. When its average
speed becomes 40 km/hr then it reaches the destination 30 minutes late. Find the
distance?/ एक कार 45 िकमी/घटंा  की गित स ेचलती ह,ै और समय पर अपन ेगतंי तक प╟चँती ह।ै जब उसकी
औसत गित 40 िकमी/घटंा हो जाती ह,ै तब वह गतंי तक 30 िमनट दरेी स ेप╟चँती ह।ै दूरी ŵात कर┼?



200 km/ 200 िकमी

240 km/ 240 िकमी

180 km/ 180 िकमी

150 km/ 150 िकमी

Correct Answer :­180 km/ 180 िकमी 

7)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े╡म म┼ अगली
आकृित कौन सी होगी?

Correct Answer :­  

8)

Question Stimulus :­



Three unbiased coins are tossed. What is the probability of geħng all the tails? / तीन िनТā िस☺े फ┼के जात ेह।ै सभी के पट
आन ेकी सभंावना ℓा ह?ै

1/8

1/4

1/2

7/8

Correct Answer :­1/8 

9)

Question Stimulus :­

Complete the series choosing the missing leĥer/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए : abca _ bcaab _ aa _ caa _
ca

bbac

bbaa

acbb

acac

Correct Answer :­acbb 

10)

Question Stimulus :­

Complete the series choosing the missing number: / िवलЧु सġंा चनुकर ▓खंला को परूा कीिजए :

8, 10, 14, 18, ______, 34, 50

24

25

26

27

Correct Answer :­26 

11)



Question Stimulus :­

A can finish a work in 18 days and B can do the same in 15 days. B worked for 12 days and left the job. In how many
days A alone can finish the remaining work? / A एक काम को 18 िदनो ंम┼ परूा कर सकता ह ैऔर B उसी काम को 15
िदनो ंम┼ कर सकता ह।ै B न े12 िदनो ंके िलए काम िकया और काम छोड़ कर चला गया। बच े╟ए काम को A अकेल ेिकतने
िदनो ंम┼ परूा कर सकता ह?ै

days / िदन

     

Correct Answer :­  

12)

Question Stimulus :­

If FIND is represented as HKPF then, LOVE is represented as / यिद FIND को HKPF स ेदशा└या गया
ह ैतो, LOVE को ऐस ेदशा└या जायगेा

MPUF  

JNUD

NQXG

WLER

Correct Answer :­NQXG 

13)

Question Stimulus :­

CANCELLED

If CLASSIFIEDS is coded as CLSFD, what is ADVERTISEMENTS coded as? / यिद
CLASSIFIEDS  को CLSFD स ेकोिडत िकया जाता ह,ै तो ADVERTISEMENTS को कैस ेकोिडत िकया जायगेा?



DVRTSMNTS

DVRTSMNS

DVTRSMNS

DVRTSMN

Correct Answer :­DVRTSMN 

14)

Question Stimulus :­

In a certain code language, mep zap dup means lunch and dinner, pep mep tep
means hot and cold, clep tep nep means very hot summer. Which is the word
for cold in that code language? / िकसी खास कोड भाषा म┼, mep zap dup का मतलब ह ैlunch and
dinner, pep mep tep का मतलब ह ैhot and cold, clep tep nep का मतलब ह ैvery hot summer |  उसी
कोड भाषा म┼ cold के िलए ℓा शо ह?ै

pep

mep

tep

clep

Correct Answer :­pep 

15)

Question Stimulus :­

The sum of two numbers is 20 and the difference between them is 2 what is the ratio of the
two numbers? / दो सġंाओ ंका योग 20 ह ैऔर उनके बीच का अतंर 2 ह,ै दो सġंाओ ंका अनपुात ℓा ह?ै

5,9

10,11

11,9

None / कोई नही।ं

Correct Answer :­11,9 

16)

Question Stimulus :­



The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई ▓खंला अāरो ं एव ंसġंाओ ंका अन╡ुम ▀योग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) CZ345CXD2   

(ii) CZ345CXD2                 

(iii) CZ345CXD2                

(iv) CZ235CXD2

i

ii

iii

iv

Correct Answer :­iv 

17)

Question Stimulus :­

How many different ten leĥer words can be formed using the leĥers of the word ‘ATTENDANCE’ if repeĕĕon is not allowed?
/ यिद पनुरावεृѝ त अनिुमत नही ंह,ै तब ‘ATTENDANCE’ शо के अāरो ंका ▀योग करके दस अāर के िकतन ेिविभК शо बन
सकत ेह?ै

1814400

907200

226800

453600

Correct Answer :­226800 

18)

Question Stimulus :­

Complete the series choosing the missing leĥer/s: / िवलЧु अāर चनुकर ▓खंला को परूा कीिजए : bc _ b _ c _ b _ ccb

cbcb

bbcb

cbbc



bcbc

Correct Answer :­cbcb 

19)

Question Stimulus :­

Subtract   from the sum of  &  . /  और  के योग स े घटाइए

5

3

2

1

Correct Answer :­2 

20)

Question Stimulus :­

How much should be added to 12p2 to make it 18p2? / 18p2 बनान ेके िलए 12p2 म┼ िकतना जोड़ना
चािहए? 

6p2

8p2

7p2

4p2

Correct Answer :­6p2 

21)

Question Stimulus :­

Ravi brought toys for 800 & sold them at 750.What is percentage profit or loss? / रिव 800 ╜पए के εखलौने
लाया और उФ┼ 750 ╜पए म┼ बचे िदया, लाभ या हािन ▀ितशत ℓा ह?ै

6.25%

7.25%



8.25%

None of these / इनम┼ म┼ स ेकोई नही।ं

Correct Answer :­6.25% 

22)

Question Stimulus :­

In a certain code language, ise sep vaz means drink hot coffee, ezy vaz kam means hot air
balloon, seg ezy poz means blow cold air. Which is the word for balloon in that code
language? / िकसी खास कोड भाषा म┼, ise sep vaz का मतलब ह ैdrink hot coffee, ezy vaz kam का मतलब
ह ैhot air balloon, seg ezy poz का मतलब ह ैblow cold air |  उसी कोड भाषा म┼ balloon के िलए ℓा शо
ह?ै

ezy

kam

poz

sep

Correct Answer :­kam 

23)

Question Stimulus :­

In a certain code language, pada wada sada means good looking girl, saj sana
sada means looking for you, deka saj ren means for all students. Which is the
word for you in that code language? / िकसी खास कोड भाषा म┼, pada wada sada का मतलब है
good looking girl, saj sana sada का मतलब ह ैlooking for you, deka saj ren का मतलब ह ैfor all
students |  उसी कोड भाषा म┼ you के िलए ℓा शо ह?ै

saj

sana

sada

deka

Correct Answer :­sana 

24)

Question Stimulus :­



A man travels a certain distance at a speed of 40 km / hr and returns by increasing his speed by 50% what is his average
speed for the whole journey?/ एक आदमी न े40 िकमी/घटंा की गित स ेएक िनिמत दूरी तय की और वह अपनी गित को 50%
बढात े╟ए वापस लौटा परूी या╨ा के िलए उसकी औसत गित ℓा होगी?

50 km/hr / 50 िकमी/घटंा

46 km/hr / 46 िकमी/घटंा

48 km / hr / 48 िकमी/घटंा

52 km/hr / 52 िकमी/घटंा

Correct Answer :­48 km / hr / 48 िकमी/घटंा 

25)

Question Stimulus :­

A student has to obtain 35% of the total marks to pass. He got 153 marks and failed by 22 marks. The maximum marks are/
एक छा╨ को उΟीण└ होन ेके िलए 35% कुल अकं ▀ाЧ करन ेह╒। उसको 153 अकं ▀ाЧ ╟ए और वह 22 अकंो ंस ेअनΟुीण└
रहा। अिधकतम अकं ह╒

500

600

1000

400

Correct Answer :­1000 

26)

Question Stimulus :­

Three unbiased coins are tossed. What is the probability of geħng one head? / तीन िनТā िस☺े फ┼के जात ेह।ै 1 के िचट आने
की सभंावना ℓा ह?ै

1/2

1/4

3/8

1/8

Correct Answer :­3/8 

27)



Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the one given below?
/ िनђ िदय┼ गय ेचार पतो ंम┼ स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

Prashanth Kharvi

Ul. Block 2/3

81­116 GDYNIA

INDIA

 

(i) Prashanth Kharvi

Ul. Block 2/3

81­116 GDYNIA

INDIA

 

(ii) Prashanth Kharvi

Ul. Block 2/3

81­116 GDYNIA

INDIA

 

(iii) Prashanth Kharvi

Ul. Block 2/3

81­116 GDYNIA

INDIA

 

(iv) Prashanth Kharvi

Ul. Black 2/3

81­116 GDYNIA

INDIA

i

ii



iii

iv

Correct Answer :­iv 

28)

Question Stimulus :­

(24x2)/3+(64/8)x7‐(40/5)x0)=?

72 

75

79

82

Correct Answer :­72  

29)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनђ ▀ע म┼, सġंा ▓खंला म┼ एक पद गलत ह|ै गलत पद ŵात कीिजय|े  

8,13,21,32,47,63

47

63

21

13

Correct Answer :­47 

30)

Question Stimulus :­

A student mulĕplied a number by 3/5 instead of 5/3. What is the percentage error in the calculaĕon?/ एक छा╨ न ेएक
सġंा को 5/3 के बजाय 3/5 स ेगणुा िकया। गणना म┼ ▀ितशतता ╨टुी ℓा ह?ै

34%

44%



54%

64%

Correct Answer :­64% 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Following table shows the Aluminium producĕon in India (in ’000 tonnes) by the top‐five companies from the year
1998‐99 to 2003‐04. Answer the following quesĕons using the informaĕon provided. / नीच ेदी गयी तािलका वष└ 1998­
99 स े2003­04 तक भारत की शीष└­पाचं कंपिनयो ंύारा ऐलिुमिनयम उΧादन (‘000 टन) को िदखाती ह।ै दी गयी जानकारी के
आधार पर ▀עो ंके उΟर द┼।

Which company exhibited the highest percentage increase in the producĕon of aluminium from the year 1999‐00 to 2003‐
04? / कौन सी कंपनी न ेवष└ 1999­00 स े2003­04 तक ऐलिुमिनयम के उΧादन म┼ सव╕ŗ ▀ितशत वεृο का ▀दश└न
िकया?

Hindalco / िहडंा№ो

Indal / इЊाल

Balco / बा№ो

Malco / मा№ो

Correct Answer :­Malco / मा№ो 

2)

Question Stimulus :­

The process of fusion of the male and female gametes is called / नर और मादा यĵुक के सलंयन की ▀ि╡या को कहा
जाता है



fertilization / िनषचेन

reproduction / ▀जनन

Pollinaĕon / परागन

seed formaĕon / बीज गठन

Correct Answer :­fertilization / िनषचेन 

3)

Question Stimulus :­

Following table shows the Aluminium producĕon in India (in ’000 tonnes) by the top‐five companies from the year
1998‐99 to 2003‐04. Answer the following quesĕons using the informaĕon provided. / नीच ेदी गयी तािलका वष└ 1998­
99 स े2003­04 तक भारत की शीष└­पाचं कंपिनयो ंύारा ऐलिुमिनयम उΧादन (‘000 टन) को िदखाती ह।ै दी गयी जानकारी के
आधार पर ▀עो ंके उΟर द┼।

Which company exhibited the lowest percentage increase in the producĕon of aluminium from the year 1999‐00 to
2003‐04? / कौन सी कंपनी न ेवष└ 1999­00 स े2003­04 तक ऐलिुमिनयम के उΧादन म┼ सबस ेकम ▀ितशत वεृο का ▀दश└न
िकया?

Indal / इЊाल

Hindalco / िहडंा№ो

Balco / बा№ो

Malco / मा№ो

Correct Answer :­Balco / बा№ो 

4)

Question Stimulus :­



In human beings, an ovum is released from the ovary / मनुׂשो ंम┼, अडंाशय स ेअडंाणु
मोिचत होता है

Once a week / सЧाह म┼ एक बार

Once a month / महीन ेम┼ एक बार

Once in six weeks / छ्ह सЧाहो ंम┼ एक बार

Once a year / साल म┼ एक बार

Correct Answer :­Once a month / महीन ेम┼ एक बार 

5)

Question Stimulus :­

A and B are two alloys of gold and copper prepared by mixing metals in the
ratio 7 : 2 and 7 : 11, respectively. If equal quantities of the alloys are melted
to form a third alloy C, the ratio of gold and copper in C will be: / सोना एव ंताबँा
धातओु ंको िमलाकर

7 : 2 एव ं7 : 11 के अनपुात म┼ ╡मश:  A एव ंB दो िम▓ात ुतयैार िकय ेगए। यिद िम▓ात ुC बनान ेके िलए
इन दो िम▓ातओु ंको समान अनपुात म┼ िपघलाया जाए, तब C म┼ सोन ेएव ंताबँ े का अनपुात होगा:

5 : 9

7 : 5

5 : 7

9 : 5

Correct Answer :­7 : 5 

6)

Question Stimulus :­

A woman’s voice is much higher in pitch than a man’s voice because women’s vocal cords are about / मिहला
की आवाज़ िपच म┼ आदमी की आवाज़ स ेकई ǿादा होती ह ैℓोिंक मिहला की घोषत╨ंी लगभग इतनी होती है

2.5cm  & 2.75 cm / 2.5 समेी और 2.75 समेी

1.75 cm & 2.5 cm / 1.75 समेी और 2.5 समेी

1.25 cm & 1.75 cm / 1.25 समेी और 1.75 समेी

1.0 cm & 1.25 cm / 1.0 समेी और 1.25 समेी



Correct Answer :­1.25 cm & 1.75 cm / 1.25 समेी और 1.75 समेी 

7)

Question Stimulus :­

Following table shows the Aluminium producĕon in India (in ’000 tonnes) by the top‐five companies from the year
1998‐99 to 2003‐04. Answer the following quesĕons using the informaĕon provided. / नीच ेदी गयी तािलका वष└ 1998­
99 स े2003­04 तक भारत की शीष└­पाचं कंपिनयो ंύारा ऐलिुमिनयम उΧादन (‘000 टन) को िदखाती ह।ै दी गयी जानकारी के
आधार पर ▀עो ंके उΟर द┼।

In which year was the total yearly increase in producĕon the highest? / िकस वष└ म┼ उΧादन म┼ कुल वािष└क वεृο सबसे
ǿादा थी?

1999‐00

2001‐02

2002‐03

2003‐04

Correct Answer :­2003‐04 

8)

Question Stimulus :­

If square root of 12 is 3·464, then the square root of 0·00000012 is
________________  / यिद 12 का वग└मलू 3·464 ह,ै तब 0·00000012 का वग└मलू
__________ ह।ै

0·00003464

0·0003464

0·003464



0·03464

Correct Answer :­0·0003464 

9)

Question Stimulus :­

Normal range of breathing rate per minute in an average adult person at rest is, / िव▓ामावэथा म┼ एक औसत वयַא
ε♣ म┼ ▀ित िमनट सासँ लने ेकी सामाР पδरसर हैי

9 – 12   times / 9 – 12   बार

15 – 18  times / 15 – 18  बार

21 – 24  times / 15 – 18  बार

30 – 33 ĕmes / 30 – 33 बार

Correct Answer :­15 – 18  times / 15 – 18  बार 

10)

Question Stimulus :­

The use of Delhi Metro for the purpose of commuĕng has helped in reducing the level of air polluĕon
because it runs on / िद׃ी मटे├ो के अिभगमन हते ु▀योग न ेवाय ु▀दषुण को कम करन ेम┼ मदद की ह ैℓोिंक वह इस पर
चलती है

Electricity / िवद्युत

Coal / कोयला

Petrol / पटे├ोल

Diesel / डीज़ल

Correct Answer :­Electricity / िवद्युत 

11)

Question Stimulus :­

An Iron stand with a clamp attached is taken and threads of cotton, jute, wool and nylon of the same length are
suspended from it, one at a time. To the other end of the thread is attached a pan in which weights can be placed.
Weights are added one by one till the thread breaks. Which thread will not break easily? / लोह ेके ּדΏै को जड़ुे
╟ए □ѓै के साथ लकेर उसस ेकपास, पटसन, ऊन और नाइलॉन के समान लबंाई के धाग ेएक बार म┼ लटकाए
गए। धाग ेके दूसरे िसरे स ेपलड़ा जोड़ा गया िजसम┼ भारो ंको रखा जा सकता ह।ै भारो ंको एक एक करके
धागा टूटन ेतक जोड़ा गया। कौन सा धागा आसानी स ेनही ंटूटगेा?



Jute / पटसन

Wool / ऊन

Cotton / कपास

Nylon / नाइलॉन

Correct Answer :­Nylon / नाइलॉन 

12)

Question Stimulus :­

In lichens the two closely associated organisms which are benefiĥed from each other are / लाइकेन म┼ दो
िनकटता स ेसεњिलत जीव जो परּמर लाभाεСत होत ेह╒

Algae and protozoa / शवैाल और ▀ाटोज़ोआ

Algae and bacteria / शवैाल और जीवाणु

Algae and fungi / शवैाल और कवक

Algae and virus / शवैाल और िवषाणु

Correct Answer :­Algae and fungi / शवैाल और कवक 

13)

Question Stimulus :­

If a photo frame, rectangular in shape is 8 cm long and 6 cm wide, what should be the area of the
photograph in the frame? / यिद आयताकार फोटो ▄ेम 8 समेी लѕा और 6 समेी चौड़ा ह,ै तो ▄ेम म┼ फोटो╣ाफ का
ā╨ेफल िकतना होना चािहए?

4.8 cm2 / 4.8 समेी 2

140 cm2 / 140 समेी 2

48 cm2 / 48 समेी 2

128 cm2 / 128 समेी 2

Correct Answer :­48 cm2 / 48 समेी 2 

14)

Question Stimulus :­



Profit earned by selling an article for Rs. 1060 is 20% more than the loss incurred by
selling the article for Rs. 950.  At what price should the article be sold to earn 20% profit?
/ एक वּה ुको 1060 ╛पयो ंम┼ बचेन ेपर अिज└त लाभ उस े950 ╛पयो ंम┼ बचेन ेस ेहोन ेवाल ेहािन स े20% अिधक ह।ै
20% लाभ अिज└त करन ेके िलए वּה ुको िकतन ेमूׂ  पर बचेा जाए?

1080

1800

1200

1280

Correct Answer :­1200 

15)

Question Stimulus :­

Idenĕfy the parasiĕc plant from the following / परजीवी पौध ेको पहचािनए

pitcher plant / घटपण┬

grape vine / अगंरू की बले

cuscuta / अमरबले

money plant / मनी Юाटं

Correct Answer :­cuscuta / अमरबले 

16)

Question Stimulus :­

Find the difference between the roots of the quadratic equation  / िύघात समीकरण 

के मलूो ंके बीच अतंर िनकािलए।

1

4

2

0

Correct Answer :­0 



17)

Question Stimulus :­

CANCELLED

Following table shows the Aluminium producĕon in India (in ’000 tonnes) by the top‐five companies from the year
1998‐99 to 2003‐04. Answer the following quesĕons using the informaĕon provided. / नीच ेदी गयी तािलका वष└ 1998­
99 स े2003­04 तक भारत की शीष└­पाचं कंपिनयो ंύारा ऐलिुमिनयम उΧादन (‘000 टन) को िदखाती ह।ै दी गयी जानकारी के
आधार पर ▀עो ंके उΟर द┼।

Which company exhibited the highest increase in producĕon (in ’000 tonnes) of aluminium from the year 1999‐00 to
2003‐04? / कौन सी कंपनी न ेवष└ 1999­00 स े2003­04 तक ऐलिुमिनयम के उΧादन ('000 टन म┼) म┼ सव╕ŗ ▀ितशत वεृο
का ▀दश└न िकया?

Hindalco / िहडंा№ो

Nalco / ना№ो

Indal / इЊाल

Balco / बा№ो

Correct Answer :­Nalco / ना№ो 

18)

Question Stimulus :­

A pair of linear equaĕons is said to have a unique soluĕon, when both the lines represenĕng the linear equaĕons
______________. / एक रेखीय समीकरण के यĵु म┼ अिύतीय हल पाया जाता ह,ै जब रेखीय समीकरण दशा└ रही दोनो ंरेखाएं

intersect at one point / एक िबदं ुपर ▀ितŜदे करती ह╒

are parallel to one another / एक दूसरे के समातंर होती ह╒

are co‐incident / सपंाती होती ह╒



are perpendicular to one another / एक दूसरे के लबं होती ह╒

Correct Answer :­intersect at one point / एक िबदं ुपर ▀ितŜदे करती ह╒ 

19)

Question Stimulus :­

A quadrilateral ABCD is drawn to circumscribe a circle.  If AB = 4 cm. CD = 7
cm, BC = 3 cm, then find AD. / एक वतृ को पδरगत करन ेके िलए चतभु└ुज ABCD εखचंा जाता है
यिद AB = 4 समेी, CD = 7 समेी., BC = 3 समेी. ह ैतो AD ŵात करो।

11 cm / 11 समेी.

18 cm / 18 समेी.

10 cm / 10 समेी.

8 cm / 8 समेी.

Correct Answer :­8 cm / 8 समेी. 

20)

Question Stimulus :­

The mode of nutriĕon in which organisms take in nutrients in soluĕon form from dead and decaying maĥer
is called / पोषण की वह िवधा िजसम┼ जीव, मतृ और āयमान पदाथ╗ स ेिवलयन ╜प म┼ पोषण ╣हण करत ेह╒, कहलाती
है

Saprophyĕc nutriĕon / मतृजीवी पोषण

Parasiĕc nutriĕon / परजीवी पोषण

Holozoic nutriĕon / ▀ािणसमभोजी पोषण

Autotrophic nutriĕon / ּתपोिषत पोषण

Correct Answer :­Saprophyĕc nutriĕon / मतृजीवी पोषण 

21)

Question Stimulus :­

Name the gas evolved during photosynthesis and is uĕlized by the living organisms for their survival? / उस
गसै का नाम बताइए जो ▀काश संצषेण के दौरान िवकिसत होती ह ैऔर जीिवत जीवो ंύारा उनकी उΟरजीिवता के
िलए ▀य♣ु की जाती ह?ै

Nitrogen  / नाइट├ोजन



Carbon dioxide / काब└न डाइऑċाइड

Oxygen / ऑċीजन

Hydrogen / हाइड├ोजन

Correct Answer :­Oxygen / ऑċीजन 

22)

Question Stimulus :­

The area of the sector of angle 600 of a circle with radius 10 cm is _________. / 10 समेी ि╨ǿा वाल ेवतृ म┼ 600 कोण के
स♂ेर का ā╨ेफल ह_ै________

52 cm2

Correct Answer :­  

23)

Question Stimulus :­

Following table shows the Aluminium producĕon in India (in ’000 tonnes) by the top‐five companies from the year
1998‐99 to 2003‐04. Answer the following quesĕons using the informaĕon provided. / नीच ेदी गयी तािलका वष└ 1998­
99 स े2003­04 तक भारत की शीष└­पाचं कंपिनयो ंύारा ऐलिुमिनयम उΧादन (‘000 टन) को िदखाती ह।ै दी गयी जानकारी के
आधार पर ▀עो ंके उΟर द┼।



In which year was the total producĕon of aluminium the lowest? / िकस वष└ म┼ ऐलिुमिनयम का सबस ेकम उΧादन िकया
गया था?

1999‐00

2000‐01

2001‐02

2002‐03

Correct Answer :­2001‐02 

24)

Question Stimulus :­

Force of fricĕon is greater if / घष└ण का बल अिधक बड़ा होता ह ैयिद

A rough surface is involved / एक ╛ā पृ״ सεњिलत हो तो

A smooth surface is involved / एक नरम पृ״ सεњिलत हो तो

Both the surfaces are involved / दोनो ंसतह┼ सεњिलत हो ंतो

Neither of the surfaces are involved / दोनो ंम┼ स ेकोई पृ״ सεњिलत न हो तो

Correct Answer :­A rough surface is involved / एक ╛ā पृ״ सεњिलत हो तो 

25)

Question Stimulus :­

Find the minimum value that 2sec  can take if 0       90o, / यिद 0       90o, तो

2sec   का िनђतम मान ŵात कर┼|



1

2

0

4

Correct Answer :­2 

26)

Question Stimulus :­

The charge developed on an object when it is rubbed with suitable substances is called / िकसी वּה ुपर िवकिसत
आवशे जब उस ेिकसी उपय♣ु पदाथ└ के साथ रगड़ा जाए कहलाएगा

posiĕve charge / धन आवशे

negaĕve charge / ऋण आवशे

dynamic charge / गितशील आवशे

staĕc charge / εэथर आवशे

Correct Answer :­staĕc charge / εэथर आवशे 

27)

Question Stimulus :­

Select the term which is related to the Silk industry ? / रेशम उϋोग स ेसबंिंधत शо का चयन कीिजए ?

Horticulture. /  उϋान कृिष

Sericulture. / रेशम कीटपालन

Floriculture. / पТु कृिष

Agriculture. / कृिष

Correct Answer :­Sericulture. / रेशम कीटपालन 

28)

Question Stimulus :­

The verĕcal angle of an isosceles triangle is 100o. Find its base. / एक समिύबा╟ ि╨भजु का उЅा└धर कोण 100o ह ैतो
इसका आधार ŵात करो।



45o, 45o

60o, 20o

40o, 40o

30o, 30o

Correct Answer :­40o, 40o 

29)

Question Stimulus :­

Fossil fuels include / जीवाף ईधंन के अतंग└त है

Coal, petroleum and natural gas / कोयला, पटे├ोिलयम और ▀ाकृितक गसै

Only coal and petroleum / केवल कोयला और पटे├ोिलयम

Only petroleum and natural gas / केवल पटे├ोिलयम और ▀ाकृितक गसै

Diesel ,petrol, and kerosene / डीज़ल, पटे├ोल और िम‛ी का तले

Correct Answer :­Coal, petroleum and natural gas / कोयला, पटे├ोिलयम और ▀ाकृितक गसै 

30)

Question Stimulus :­

Select the CORRECT pair of insulators / िवद्युत­्रोिधयो ंकी उपय♣ु जोड़ी का चनुाव कर┼

Water and metal / जल एव ंधातु

Water and air / जल एव ंवायु

Wool and iron / ऊन एव ंलोहा

Plastic and steel / Юाεּדक एव ंइּמात

Correct Answer :­Water and air / जल एव ंवाय ु


